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 -رعيَٞبد ٕبٍخ:

 -عضٝضٙ اىطبىت:

 اقشأ اىسؤاه ثعْبٝخ، ٗفنش فٞٔ جٞذًا قجو اىجذء فٚ إجبثزٔ. (1

 أجت عِ جَٞع الأسئيخ ٗلا رزشك أٙ سؤاه دُٗ إجبثخ. (2

 عْذ إجبثزل ىلأسئيخ ىيَقبىٞخ، أجت فَٞب لاٝضٝذ عِ اىَسبحخ اىَحذدح ىنو سؤاه. (3

  -ٍثبه :

................................................................................................................................. ......

............................................................................................................................ ...........

....................................................................................................................................... 

 -عْذ إجبثزل عِ أسئيخ الاخزٞبس ٍِ ٍزعذد إُ ٗجذد: (4

 ظيو اىذائشح راد اىشٍض اىذاه عيٚ الإجبثخ اىصحٞحخ رظيٞلًا مبٍلًا ىنو سؤاه.

 ( ٍثلًا Cالإجبثخ اىصحٞحخ ) ٍثبه : 

  

  

 .الإجبثخ اىصحٞحخ ٍثلًا 

  

 ست الإجبثخ صحٞحخفٜ حبىخ ٍب إرا أججذ إجبثخ خطأ، ثٌ قَذ ثبىشطت ٗأججذ إجبثخ صحٞحخ رح. 

 .ٗفٜ حبىخ ٍب إرا أججذ إجبثخ صحٞحخ، ثٌ قَذ ثبىشطت ٗأججذ إجبثخ خطأ رحست الإجبثخ خطأ 

  اىزظيٞو عيٜ أمثش ٍِ سٍض، رعزجش الإجبثخ خطأ.فٜ حبىخ 

( ، فيِ رقذس إلا الإجبثةخ الأٗىةٜ    لا رنشس الإجبثخ عِ الأسئيخ اىَ٘ض٘عٞخ ) الاخزٞبس ٍِ ٍزعذد : ٍيح٘ظخ

 .قطف

 . ( سؤالًا 60ذد أسئيخ اىنزٞت ) ع (5

 . ثخلاف اىغلاف (  صفحخ 27عذد صفحبد اىنزٞت)  (6

 ، فٖٜ ٍسؤىٞزل. ، ٍِٗ عذد صفحبد مزٞجلرأمذ ٍِ رشقٌٞ الأسئيخ رصبعذٝبً (7

 ( سبعبد. 3 صٍِ الاخزجبس) (8

 ( دسجخ. 60 اىذسجخ اىنيٞخ ىلاخزجبس) (9

 

 

 

 
 

A 

B 

C 

 
D 
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Answer the following questions:-  

Questions from ( 1 : 3 ):- 

Choose the correct answer of the following:- 

 

 

 

 
 

 1) Which of the following values express 

the pH for sodium benzoate salt solution 

C6H5COONa, its concentration is 2M 

knowing that the ionization constant of 

benzoic acid C6H5COOH is ... 

( Ka = 6.4 x 10
-5

 ).  

 

 5.25 

 5.4 

 6.4 

 8.75 

 2) The standard reduction potential of 

Hydrogen in fuel cell equal ….. volt .  

 

 + 0.83 

 – 0.83 

 Zero. 

 + 0.4 

 3) If the solubility product K sp of calcium 

fluoride salt CaF2 at 25
o
C is 3.9 x 10

-11
, 

So, [F
-1

] in the saturated solution of CaF2 

at 25
o
C is …………. .  

 

 3.4 x 10
-4

. 

 6.8 x 10
-4

. 

 2.1 x 10
-4

. 

 4.3 x 10
-4

. 

 
 سئيخ اىزبىٞخ:جت عِ الأأ

 
 -:(  3 -1سئيخ ٍِ )الأ
 

 ٍَب ٝيٚ: خاىصحٞح خرخٞر الإجبث

 

 pHأٙ ٍَب ٝيٚ ٝعجةش عةِ قَٞةخ اىة       -1

ىَحيةةةةةةة٘ه ثْةةةةةةةضٗاد اىصةةةةةةة٘دًٝ٘   

C6H5COONa ، ٓ2رشمٞةةةض M 

إرا عيَةةذ أُ ثبثةةذ اىزةةأِٝ ىحَةة     

  … ٕ٘ C6H5COOHاىجْضٗٝل 

           (  Ka = 6.4 x 10
5
 ) 

 

  5.25 

  5.4 

  6.4 

 8.75  

زضاه اىقٞبسةةةةةةةةةةٚ   جٖةةةةةةةةةةذ الاخةةةةةةةةةة  -2

ٜ خيٞخ اى٘ق٘د ٝسبٗٛ ىيٖٞذسٗجِٞ ف

 ............. ف٘ىذ.

     + 0.83 

   – 0.83 

  Zero 

  0.4+ 
 

مةةةبُ حبصةةةو الإراثةةةخ ىفي٘سٝةةةذ     إرا -3

 ْ ً 25عْةةةذ   CaF2اىنبىسةةةًٞ٘ 

3.9x 10
-11

 Ksp =  ،ُ٘فٞنةةة       

] [ F
-1

        فةةةةٜ اىَحيةةةة٘ه اىَشةةةةجع   

 ْ ً ٕ٘ ....... 25عْذ  CaF2ى  

   3.4 x 10
-4

  

   6.8 x 10
-4

 

  2.1 x 10
-4

 

 4.3 x 10
-4

 

 
 

A 

B 

C 

 
D 

A 

B 

C 

 
D 

A 

B 

C 

 
D 
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Questions from ( 4 : 5 ):-  

Two alcohols, one of them is a secondary alcohol and 

the other one is a tertiary alcohol, having the same 

molecular formula (C4H10O). 

 

 

 
 

 4) Write the structural formula for each of 

the secondary alcohol and the tertiary 

alcohol. 

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

………………………………………… 

 

  

 5) Write the scientific (IUPA) name for 

each of the secondary alcohol and the 

tertiary alcohol. 

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………. 

 

 ………………………………………

………………………………………

……………………………………… 

  

 
 -:( 5  - 4الأسئيخ ٍِ )

 
ثووووووبّ٘ٙ  محوووووو٘هُ أ وووووو َٕب 

ىَٖووب ّ وو   ، ٗثووبى ٜ  الأخوورٗ
 اىصوووووووٞيخ اى  ٝئٞوووووووخ  

(C4H10O ) 
 

 

نووو ٍووِ اىصووٞيخ اىجْبةٞووخ ىامزووت  -4

 .اىنح٘ه اى بّ٘ٙ ٗاى بى ٚ

سووووٌ مووووو ٍووووِ اىنحوووو٘ه اامزووووت  -5

 .اى بّ٘ٙ ٗاى بى ٚ
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Questions from ( 6 : 7 ) :- 

 

 
 

 6) Show by drawing and balanced chemical 

equations how you can prepare an 

unsaturated organic gas from which we 

can prepare ethanol by catalytic 

hydration. 

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………. 

 

  

 7) Explain the role of the concentrated 

sulphuric acid in the preparation of an 

unsaturated organic gas from which we 

can prepare ethanol by catalytic 

hydration. 

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………. 

 

 ………………………………………

………………………………………

……………………………………… 

  

 
 -:( 7  - 6الأسئيخ ٍِ )

ٗضووووور ثبىرسوووووٌ ٗاىَعوووووب هد  -6

ٞووخ اىَز ّووخ مٞ ٞووخ رح ووٞر  اىنَٞٞبة

غوب  ع وو٘ٛ غٞوور ٍيووجر  ٝ ح وور  

 ٍْٔ الإٝ بّ٘ه ثبىٖٞ رح اىح  ٝخ.

 

أشوووووووووووور   ٗر  َوووووووووووو     -7

اىنجرٝزٞل اىَرم  فٜ رح  ٞر 

غووب  ع وو٘ٛ غٞوور ٍيووجر اىوو ٛ 

َٝنوووِ رح وووٞر الإٝ وووبّ٘ه ٍْووؤ   

 .ثبىٖٞ رح اىح  ٝخ
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Questions from ( 8 : 10 ) :-  

Write down the indication of each of the following 

statements:-  

 

 

 

 
 

 8) The reaction of benzene with methyl 

chloride in the presence of a catalyst. 

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

………………………………………… 

 

  

 9) A brief expression to show the oxidation 

reduction reaction that occur at both the 

anode and the cathode.  

 

 ...............................................................

...............................................................

...............................................................

...............................................................

...............................................................

............................................................... 

  

 10) Unsaturated aliphatic hydrocarbons 

its general formula CnH2n. 

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………. 

 

  

 
 -: (10 - 8الأسئيخ ٍِ )

 
امزووت ٍووب روو ه عيٞوؤ مووو ٍووِ     

 اىعجبراد اىزبىٞخ:
  

 

رفبعةةةةو اىجْةةةةضِٝ ٍةةةةع مي٘سٝةةةةذ    -8

 . ٞو فٚ ٗج٘د عبٍو حفبصاىَٞث

 

رعجٞش ٍخزصش ٝعجش عةِ رفةبعيٜ    -9

الأمسذح ٗالاخزضاه اىحبدثِٞ عْذ مو 

 ٍِ اّٟ٘د ٗاىنبث٘د. 

ىٞفبرٞةخ  إٔٞذسٗمشثّ٘بد ٍشجعخ  -10

 .  CnH2nصٞغزٖب اىعبٍخ 
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 11) Mention two factors that affect the 

rate of the chemical reaction. 

…………………………………………

…………………………………………

…………………………………………

…………………………………………

………………………………………… 

 

 ...............................................................

...............................................................

...............................................................

...............................................................

...............................................................

............................................................... 

  

 12) Show by chemical equations how you 

can obtain an insecticide from the natural 

gas. 

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

……………………………………..........

..................................................................

..................................................................

..................................................................

..................................................................

................................................................. 

 

  

 
 

 
 

اذكر العوامل التى تؤثر على  -11
.              معدددددددداع اللتيمعددددددددل ال    ددددددددم ى 

 . . ) ي تيى بعممل ن(

 

ثبىَعةبدلاد اىنَٞٞبئٞةخ    ٗضح  -12

مٞةةي َٝنةةِ اىحصةة٘ه عيةةٚ ٍجٞةةذ      

 حششٛ ٍِ اىغبص اىطجٞعٜ. 
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Questions from ( 13 : 14 ) :- 

What is meant by each of the following?  

 

 

Questions from ( 15 : 17 ) :- 

Write the scientific explanation for each of the 

following statements:- 

 13) Strong electrolyte. 

…………………………………………

…………………………………………

…………………………………………

…………………………………………

………………………………………… 

 

  

 14) Weak electrolyte.   

 ...............................................................

...............................................................

...............................................................

...............................................................

.............................................................. 

  

 15) On adding Iron III chloride solution 

(pale yellow) gradually to ammonium 

thiocyanate solution (colorless), the color 

of the produced solution changes into 

bloody red. 

.…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………. 

 

  

 
 -: (14 - 13  الأسئيخ ٍِ )

 
 ؟ٍب اىَقص٘  ثنو ٍِ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 -: (17 -15الأسئيخ ٍِ ) 

 

                    اى ٛ ٝ سر  اذمر اىسجت اىعيَٜ

 -مو ٍِ اىعجبراد اىزبىٞخ :

 

 الإىنزشٗىٞذ اىق٘ٙ  -13

 

 الإىنزشٗىٞذ اىضعٞي. -14

  

ٍحي٘ه مي٘سٝةذ   إضبفخعْذ  - 15

) أصةةةةةفش ثبٕةةةةةذ (   IIIذ اىحذٝةةةةة

رةةذسٝاٞبً إىةةٚ ٍحيةة٘ه ثٞ٘سةةٞبّبد  

 ٝزغٞةةشالأٍّ٘ٞةةً٘ ) عةةذٌٝ اىيةةُ٘ ( 

ىُ٘ اىَحية٘ه اىْةبرإ إىةٚ الأحَةش     

 اىذٍ٘ٛ.
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 16) It is not preferable to use iron or 

manganese elements in their pure state. 

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………. 

 

  

 17) The molten cryolite and fluorspar are 

added to bauxite ore on the extraction of 

aluminum electrically.  

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

…………………………………………

………………………………………… 

 

  

  

 
 (14 - 13  الأسئيخ ٍِ )

 
 ؟ٍب اىَقص٘  ثنو ٍِ 

 

 

 

 

 

 

 

 

 

 

 

 

 

  (17 -15الأسئيخ ٍِ ) 

 

مو ٍِ اى ٛ ٝ سر اذمر اىسجت اىعيَٜ 

 -اىعجبراد اىزبىٞخ :
 

لا ُٝفضةةةو اسةةةزخذاً مةةةو ٍةةةِ    -16

عْصةةةشٛ اىَْاْٞةةةض ٗاىحذٝةةةذ فةةةٜ   

 اىحبىخ اىْقٞخ. 

 

ٝضةبف ٍصةةٖ٘س اىنشٝ٘ىٞةةذ    -17

ٗاىفي٘سسةةجبس اىةةٚ خةةبً اىج٘مسةةٞذ    

 عْذ اسزخلاص الأىًٍْ٘ٞ٘ مٖشثٞب 
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Questions from ( 18 : 20 ) :- 

Show by balanced chemical equations how you can 

obtain each of the following:-  

 

 

 

 18) Iodide from potassium iodide.   

  

 

 

 

 

 

  

 

 

 

 

 

 

 

  

 

 19) Ethylene glycol from methane.   

  

 20) Phenol from Benzene.   

  

 
 (14 - 13  الأسئيخ ٍِ )

 
 ؟ٍب اىَقص٘  ثنو ٍِ 

 

 

 

 

 

 

 

 

 

 

 

 

 

  (17 -15الأسئيخ ٍِ ) 

 

مو ٍِ اى ٛ ٝ سر اذمر اىسجت اىعيَٜ 

 -اىعجبراد اىزبىٞخ :
 

 

 

 

 

 اىٞ٘د ٍِ ٝ٘دٝذ اىج٘ربسًٞ٘.  -18

 

 

 -: ( 20:  18 سئيخ ٍِ )لأا

نححح لموضحححالمعادلاحححاكيملمائية ةاتةححح لماد  

 -كللممنلم:علىلمكةفة لمالحصوللم

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

……………………………………………………………………………………………… 

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

…………………………………………………………………………………………… 

 إٝثٞيِٞ جيٞن٘ه ٍِ اىَٞثبُ. -19

 

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

……………………………………………………………………………………………… 

 .ْٞ٘ه ٍِ اىجْضِٝاىف  -20
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Questions from (21 – 23) :- 

How can you differentiate practically between each 

pair of the following?  

 

 

  

 

 

 

 

 

 

 

 

  

 

 

 21) Ethane and acetylene.   

  

 22) Carbonic acid and carbolic acid.   

  

 
 (14 - 13  الأسئيخ ٍِ )

 
 ؟ٍب اىَقص٘  ثنو ٍِ 

 

 

 

 

 

 

 

 

 

 

 

 

 

  (17 -15الأسئيخ ٍِ ) 

 

مو ٍِ اى ٛ ٝ سر اذمر اىسجت اىعيَٜ 

 -اىعجبراد اىزبىٞخ :
 

 
 

 23) Calcium chloride and calcium nitrite.   

  

 -:(  23:  21 ) لأسئيخ ٍِا

مٞوووف ر ووورا عَيٞوووب  ثوووِٞ موووو   
 ٍَب ٝيٜ؟ ٗج 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

…………………………………………………………………………………………… 

 .الإٝثبُ ٗالأسزٞيِٞ -21

 

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

……………………………………………………………………………………………… 

 .ْٞ٘ه ٍِ اىجْضِٝاىف  -22

 

 

كلوريددالكاكساوددوويليىو يدد ل  -23

 ..كاكساوووي

 

 ………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

……………………………………………………………………………………………… 

 -( : 23:  21لأسئيخ ٍِ ) 
 

 مٞف ر را عَيٞب  ثِٞ مو  ٗج 

 ٍَب ٝيٜ؟
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Questions from ( 24 : 26 ) :- 

Using the figure below that shows the activation energy 

before and after using a transition element as a catalyst,  

 

 

 

 

 

 

 

Answer the following questions:- 

 

 

 24) What is the value of the activation 

energy without using a catalyst? 

…………………………………………

…………………………………………

………………………………………… 

 

  

  

 25) What is the value of the activation 

energy after using a catalyst? 

..................................................................

..................................................................

..................................................................

................................................................. 

 

  

 26) Is this reaction an endothermic or an 

exothermic reaction? 

..................................................................

..................................................................

..................................................................

................................................................. 

 

  

 
 -:(  26:  24 لأسئيخ ٍِ )ا
 

 اىزوووووبىٜثبهسوووووزعبّخ ثبىيووووونو 
 ٙ ٝ٘ضووور ةباوووخ اىزْيوووٞ  اىووو

اجووووووووووو ٗثعوووووووووو  اسووووووووووزخ اً  
عْصوووراّزقبىٜ معبٍوووو   وووب ، 

  -أجت عَب ٝيٚ:
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

 

مددسلمومددقل سمددقلكابنوددو ل دداي ل - 24

لحفسزل؟لكسبخاكيلعسمل

.  

 

مدددسلمومدددقل سمدددقلكابنودددو ل  دددال -25

للكسبخاكيلعسمللحفسزل؟

ل

 

Reaction direction 

Energy  

هللهذكلكابفسعلل سردلأيلمدس ل  -26

لالحركرةل؟

ل
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Questions from ( 27 : 29 ) :- 

Choose the correct answer of the following:- 

 

 

 

 
 

 27) Iron dissolves in diluted acids to 

produce …  

 

 Iron II salts. 

 Iron II oxide. 

 Iron III salts. 

 Iron III oxide. 

 28) A black precipitate is formed on 

adding silver nitrate solution to the 

solution of ……  

 

 Sodium sulphite. 

 Sodium sulphide. 

 Sodium nitrate. 

 Sodium carbonate. 

 29) The organic compound ( 1, 2, 3 

trihydroxy benzene ) is called ……  

 

 Ethanol. 

 Picric acid. 

 Pyrogallol. 

 Catechol. 

 سئيخ اىزبىٞخ:جت عِ الأأ
 

 (  3-1سئيخ ٍِ )الأ
 

 ٍَب ٝيٚ: خاىصحٞح خرخٞر الإجبث

 

 

 

 

 

 

 

 -:(  29:  27 لأسئيخ ٍِ )ا

 رخٞر الإجبثخ اىصحٞحخ ٍَب ٝيٚ:

 

 

 

 

 

 

 

 

ٝزٗة اىحذٝذ فٚ الاحَةب    -27

 .....اىَخففخ ْٗٝزإ 

 

 . IIأٍلاح اىحذٝذ   

 .II أمسٞذ حذٝذ  

 .IIIأٍلاح حذٝذ  

 .IIIأمسٞذ اىحذٝذ  

28 -   ٘ د عْةةةةذ ٝزنةةةُ٘ ساسةةةةت أسةةة

إضةةبفخ ٍحيةة٘ه ّزةةشاد اىفضةةخ إىةةٚ 

   ٍحي٘ه......

 .مجشٝزٞذ اىص٘دًٝ٘    

 .مجشٝزٞذ اىص٘دًٝ٘   

 .ّزشاد اىص٘دًٝ٘  

 .مشثّ٘بد اىص٘دًٝ٘ 
 

 2،  1اىَشمةةت اىعضةة٘ٙ )  - 29

ثلاثةةةٚ ٕٞذسٗمسةةةٚ ثْةةةضِٝ(    3، 

 ٝسَٚ .....

 الاٝثبّ٘ه   

 .حَ  اىجنشٝل   

 .اىجٞشٗجبى٘ه  

 اىنبرٞن٘ه 

 
 

A 

B 

C 

 
D 

A 

B 

C 

 
D 

A 

B 

C 

 
D 
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Questions from ( 30 : 31 ):- 

What is meant by each of the following?  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

30) The fuel cell.   

  

 

31) The acidic lead battery.   

  

 

 

 

 
 

-:(  31:  30 لأسئيخ ٍِ )ا  

 ٍب اىَقص٘  ثنو ٍَب ٝبرٜ؟

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

.خيٞخ اى٘ق٘د -33  

 
 

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

……………………………………………………………………………………………… 

.ثطبسٝخ اىشصبص اىحبٍضٞخ -31  

 
 

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

……………………………………………………………………………………………… 
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Questions from ( 32 : 34 ) :- 

Write what each of the following statements 

indicates:- 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

32) A descending order of the standard 

oxidation potentials of the elements 

referring to the standard hydrogen pole.  

 

  

 

33) A type of analytical chemistry aims to 

identify the constituents of the matter 

whether it is a pure sample or it is a 

mixture of several substances. 

 

 

  

 

34) The reaction of ethylene with hydrogen 

peroxide to form ethylene glycol 

 

 

  

 

 -:(  34:  32 لأسئيخ ٍِ )ا

ٍب ر ه عيٞٔ مو ٍِ اىعجبراد  امزت

-اىزبىٞخ:  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

……………………………………………………………………………………………… 

رشرٞت رْبصىٜ ىاٖ٘د اىزأمسذ  -32

اىقٞبسٞخ ىيعْبصش ثبىْسجخ ىقطت 

.اىٖٞذسٗجِٞ اىقٞبسٜ  

 
 

ّةةة٘ن ٍةةةةِ اىزحيٞةةةةو اىنَٞٞةةةةبئٜ   -33

ٖٝةةذف إىةةٚ اىزعةةشف عيةةٚ ٍنّ٘ةةبد    

اىَةةبدح سةة٘اء مبّةةذ ّقٞةةخ أٗ ٍخيةة٘    

ل.ٍِ عذح ٍ٘اد

 

 
 

……………………………………………………………………………………………

……………………………………………………………………………………………

……………………………………………………………………………………………

……………………………………………………………………………………………

………… 

ٝثٞيِٞ ٍع ف٘ق أمسٞذ رفبعو الا  -34

 ِ ىزنةةةةةةِ٘ٝ الاٝثٞيةةةةةةِٞ    اىٖٞةةةةةةذسٗجٞ

ل.جيٞن٘ه

 

 
 

……………………………………………………………………………………………

……………………………………………………………………………………………

……………………………………………………………………………………………

……………………………………………………………………………………………

………… 
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Questions from ( 35 : 37 ):- 

If the ionization constant of the acetic acid Ka is                  

1.8 x 10
-5

 (its concentration Ca = 0.2 Molar) in its     

aqueous solution. Calculate each of the following :- 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

35) The ionization degree of the acid.   

  

 

36) The concentration of the hydronium ion 

in the acidic solution. 

 

  

 

37) The pOH of the acidic solution.  

  

Questions from ( 35 : 37 ): 

 -: (37 – 35الأسئيخ ٍِ ) 

 Kaإذا مووبُ ثبثووذ رووضِٝ  َوو  اىخيٞوول 

10ٕووو٘  
-5

 Ca  =0.2) ررمٞووو ٓ  1.8×

ا سوت موو    ٍٜحي٘ىؤ اىَوبة   ٍٜ٘ىر ( فو 

 -:ٜٝيٍَب 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

……………………………………………………………………………………………

……………………………………………………………………………………………

……………………………………………………………………………………………

……………………………………………………………………………………………

……………………………………………………………………………………………

…………………………………………………………………………………………… 

…………………………………………………………………………………………

…………………………………………………………………………………………

…………………………………………………………………………………………

…………………………………………………………………………………………

…………………………………………………………………………………………

…………………………………………………………………………………………

……………………………………………………………………………….………… 

.دسجخ رأِٝ اىحَ  -35  

 
 

…………………………………………………………………………………………

…………………………………………………………………………………………

…………………………………………………………………………………………

…………………………………………………………………………………………

…………………………………………………………………………………………

…………………………………………………………………………………………

……………………………………………………………………………….………… 

 pOHاىشقٌ اىٖٞذسٗمسٞيٜ  – 37

 ىَحي٘ه اىحَ .

 
 

رشمٞةةض أٝةةُ٘ اىٖٞةةذسًّٗٞ٘   ل–ل36

 .فٚ ٍحي٘ه اىحَ 
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Questions from ( 38 : 40 ):- 
 

Mention the scientific explanation for each of the 

following statements:- 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

38) On the reaction of hydrogen bromide 

with ethyne (1, 2 dibromo ethane ) is 

not formed.  

 

  

 

39) The anode is the negative pole in the 

galvanic cell. 

 

  

 

40) Most of the organic compounds are non-

electrolytic substances. 

 

  

 -:(  40:  38 لأسئيخ ٍِ )ا    

اذمور اىسوجت اىعيَوٜ ىنوو ٍوِ اىعجوبراد       

 -اىزبىٞخ :

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

……………………………………………………………………………………………

……………………………………………………………………………………………

……………………………………………………………………………………………

……………………………………………………………………………………………

……………………………………………………………………………………………

…………………………………………………………………………………………… 

…………………………………………………………………………………………

…………………………………………………………………………………………

…………………………………………………………………………………………

…………………………………………………………………………………………

…………………………………………………………………………………………

…………………………………………………………………………………………

……………………………………………………………………………….………… 

…………………………………………………………………………………………

…………………………………………………………………………………………

…………………………………………………………………………………………

…………………………………………………………………………………………

…………………………………………………………………………………………

…………………………………………………………………………………………

……………………………………………………………………………….………… 

ٍعظٌ اىَشمجبد اىعض٘ٝخ ٍ٘اد  – 43

 .لا إىنزشٗىٞزٞخ

 
 

الأّ٘د ٕ٘ اىقطت اىسبىت فٚ  – 39

 .اىخيٞخ اىايفبّٞخ

 
 

عْذ رفبعو ثشٍٗٞذ اىٖٞذسٗجِٞ  – 38

ثْبئٚ  2 , 1ٍع الإٝثبِٝ لا ٝزنُ٘ 

 .ثشٍٗ٘إٝثبُ
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Questions from ( 42 : 43 ):- 

Answer the following:- 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

41) Explain how we can detect the taking of 

drivers for liquors. 

 

  

 

42) Explain what is meant by 

polymerization by addition?  

 

  

 

43) Mention an example of a polymer 

produced by addition reaction. 

 

  

 

 

 

 

 

 

 

 

 -:(  43:  42 لأسئيخ ٍِ )ا

 -:أجت عَب ٝيٜ

 

 

 

 

 

 

 
 

اششح مٞي َٝنِ اىنشي عِ  -41

.اىسبئقِٞ اىَزعبطِٞ ىينح٘ىٞبد  

.اىجيَشح ثبلإضبفخٗضح ٍعْٚ  -42  

 ارمش ٍثبه ىج٘ىَٞش رنُ٘ -43

 .ٍِ رفبعو إضبفخ

 

 

…………………………………………………………………………………………

…………………………………………………………………………………………

…………………………………………………………………………………………

…………………………………………………………………………………………

…………………………………………………………………………………………

…………………………………………………………………………………………

……………………………………………………………………………….………

… 

…………………………………………………………………………………………

…………………………………………………………………………………………

…………………………………………………………………………………………

…………………………………………………………………………………………

…………………………………………………………………………………………

…………………………………………………………………………………………

……………………………………………………………………………….………...

........................................................................................................................................

........................................................................................................................................ 

…………………………………………………………………………………………

…………………………………………………………………………………………

…………………………………………………………………………………………

…………………………………………………………………………………………

………………………………………………………………………………………… 



18  

 

Questions from ( 44 : 46 ):- 

Mention the role of each scientist of the following 

in the progress of chemistry science:- 
 

 44) Kekule.  

  

 -:(  46:  44 ٍِ ) لأسئيخا

اذمر  ٗر مو عبىٌ ٍَب ٝيٚ فٚ رق ً عيٌ 

 -اىنَٞٞبء :

 

.كوكولىل-44   

…………………………………………………………………………………………… 

…………………………………………………………………………………………... 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 
 

 45) Guldberg and Waage.  

  

 

.جواا رجلليفسجل-45  

…………………………………………………………………………………………… 

…………………………………………………………………………………………... 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 
 

 46) Wöhler.  

  

 

.فوهلرل-46  

…………………………………………………………………………………………… 

…………………………………………………………………………………………... 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 

………………………………………………………………………………………….. 
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Questions from  ( 47 : 49 ) :- 

Compare between the Blast furnace and Medrix 

furnace according to:- 
 

 47) The source of obtaining the reducing 

agent. 

 

  

 -:(  49:  47 لأسئيخ ٍِ )ا

 ٍ رم  ٗفرُ اىعبىٜ اى رُابرُ ثِٞ 

 : ٝيٚ ٍب  ٞث ٍِ

لكا سمللعلىلكلحصوللمصار -47

..كلمخبزل  

…………………………………………………………………………………………… 

…………………………………………………………………………………………... 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 
 

 48) The reducing agent.  

  

 

ل.كلمخبزللكا سملل-48

 

…………………………………………………………………………………………… 

…………………………………………………………………………………………... 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 
 

 49) The equation of the reaction to obtain 

iron. 

 

  

 

لالحصدوللكابفسعللم سداقل-49

 .كلحايالعلى

…………………………………………………………………………………………… 

…………………………………………………………………………………………... 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 
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Questions from  ( 50 : 51 ) :- 

Through the following experiments, deduce the 

salt name and its chemical formula ( Without 

writing chemical equations ):- 
 

 50) On adding lead II acetate solution to the 

salt solution a white ppt. is formed, and 

on adding ammonia solution to the salt 

solution a white gelatinous ppt. is 

formed. 

 

  

 -:(  51:  50 لأسئيخ ٍِ )ا  

ٍِ اىز برة اىزبىٞخ، اسزْزج اسٌ اىَير 

ٗصٞيزٔ اىنَٞٞبةٞخ ) ث ُٗ مزبثخ 

-:ٍعب هد مَٞٞبةٞخ(   

عْذ إضبفخ ٍحية٘ه أسةٞزبد   ل-53ل

إىةةٚ ٍحيةة٘ه اىَيةةح   IIاىشصةةبص 

ٝزنةةةةُ٘ ساسةةةةت أثةةةةٞ  ، ٗعْةةةةذ  

إضةةةةةبفخ ٍحيةةةةة٘ه اىْشةةةةةبدس إىةةةةةٚ  

ٍحي٘ه اىَيح ٝزنُ٘ ساست أثٞ  

 جٞلارْٜٞ.

…………………………………………………………………………………………… 

…………………………………………………………………………………………... 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 
 

 51) On adding silver nitrate solution to the 

salt solution, a white ppt. is formed 

which turns violet when exposed to 

light. On adding ammonium carbonate 

solution to the salt solution, a white ppt. 

is formed. 

 

  

 

عنالإضسفقلمحلوللىو كتلكافضقلل-51

إلىلمحلوللكلملحليبكدو لركسدألأ دو ل

يبحدددوللإلىلكالدددو لكا نفوددد  لعندددال

ت رضهلالضدو، ليعندالإضدسفقلمحلدولل

كر وىددستلكوموىوددويلإلىلمحلددوللكلملددحل

  .يبكو لركسألأ و 

…………………………………………………………………………………………… 

…………………………………………………………………………………………... 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 
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Questions from ( 52 : 54 ):- 

In view of your study of the transition elements 

and their usage, how can you overcome the 

following life problems? Name the used element or 

the compound or the alloy:- 
 

 52) The poor night lighting at the television 

photography.  

 

  

 -:(  54:  52 لأسئيخ ٍِ )ا

فٜ ض٘ء  راسزل ىيعْبصر اهّزقبىٞخ 

اىزييت عيٚ  ٜٗاسزخ اٍبرٖب ف

اىَينلاد اىحٞبرٞخ، اذمر اسٌ 

اىعْصر أٗ اىَرمت أٗ اىسجٞنخ 

 -اىَسزخ ٍخ:

 

ضدد الكاضددس،ةلكالولوددقلل-52ل

 ل.عنالكابصويرلكابلوفزيوني

…………………………………………………………………………………………… 

…………………………………………………………………………………………... 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 
 

 53) The unbearable of the railway tracks 

which are made of steel when the heavy 

cargo trains move on it. 

 

  

 

عدددايل مدددللمضددد س لكاودددك لل-53

كلحايايقلكلمصدنوعقلمدالكاصدلألعندال

 ل.سيرلمطسركتلكا ضسعقلكاثقولقلعلوهس

…………………………………………………………………………………………… 

…………………………………………………………………………………………... 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 
 

 54) Determining the rate of sugar in urine 

for diabetes. 

 

  

 

ت وددنلىودد قلكاوددكرلللكا ددوللل-54

 .لمرضىلكاوكر

…………………………………………………………………………………………… 

…………………………………………………………………………………………... 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 
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Questions from ( 55 : 56 ):- 

Write the chemical equations which indicate each 

of the following:-:- 
 

 
55) Kp =  

  

 

  

 -:(  56:  55 لأسئيخ ٍِ )ا

َٞٞبةٞخ اى اىخ عيٚ امزت اىَعب ىخ اىن

 -مو ٍَب ٝيٜ :

 

 

 

 

 

 

…………………………………………………………………………………………… 

…………………………………………………………………………………………... 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 
 

 
56) Kc = 

 

  

 

 

 

 

 

…………………………………………………………………………………………… 

…………………………………………………………………………………………... 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 

 

 

 

 

 

 

 

(PNH3)
2 

(PN2) .(PH2)
3 

[ CH3COO
-
] [ H3O

+
] 

[ CH3COOH ] 
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Questions from ( 57 : 58 ):- 

Write the name of the following compounds 

according to IUPAC system:- 
 

 
57)   

  

 

  

 -:(  58:  57 لأسئيخ ٍِ )ا 

امزت أسَبء اىَرمجبد اىزبىٞخ ةجقب ىْظبً 

-:اهٝ٘ثبك  

 

 

 

 

 

 

 

 

 

 

 

…………………………………………………………………………………………… 

…………………………………………………………………………………………... 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 
 

 
58)  

 

  

 

 

 

 

 

 
 

…………………………………………………………………………………………… 

…………………………………………………………………………………………... 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 
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Questions from ( 59 : 60 ):- 

A quantity of electricity is passed through two 

electrolytic cells connected in series. The first cell 

contains copper II chloride solution, while the second 

cell contains copper I chloride solution. If the increase 

in the mass of the cathode in the first cell was 0.073 g. 

[ knowing that Cu = 63.5 ]: 
 

 59) Find the increase in the mass of the 

cathode in the second cell.  

 

  

 -:(  60:  59 لأسئيخ ٍِ )ا     

أٍرد مَٞخ ٍِ اىنٖرثٞخ فٜ خيٞزِٞ 

رحيٞيٞزِٞ ٍزصيزِٞ عيٚ اىز٘اىٜ. 

رحز٘ٛ اىخيٞخ الأٗىٚ عيٚ ٍحي٘ه 

، ٗرحز٘ٛ اىخيٞخ IIمي٘رٝ  ّحبس 

. Iاى بّٞخ عيٚ ٍحي٘ه مي٘رٝ  ّحبس 

ٜ مزيخ اىنبث٘  فٜ فإذا مبّذ اى ٝب ح ف

 g 0.073         اىخيٞخ الأٗىٚ 

 -:.Cu=63]عيَب ثضُ [

 

كحوددألكازيددسدةلللكبلددقلل-59ل

 ل.كاكسثودل سلخلوقلكاثسىوق

…………………………………………………………………………………………… 

…………………………………………………………………………………………... 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 

…………………………………………………………………………………………. 

………………………………………………………………………………………….. 

………………………………………………………………………………………….. 

………………………………………………………………………………………… 
 

 60) Write the reaction equation that happens 

in the two cells. 

 

  

 

أكبدددألم سدادددقلكابفسعدددللل-63

ل.سدثقلعنالكلخلوبنكلح

 

…………………………………………………………………………………………… 

…………………………………………………………………………………………... 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 

…………………………………………………………………………………………… 

…………………………………………………………………………………………. 

………………………………………………………………………………………….. 

 

 اّزٖذ الأسئيخ
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 ٍس٘ ح

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 
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 ٍس٘ ح

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 
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 ٍس٘ ح

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 

……………………………………………………………………………………….. 
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